S AZ3045) i = X 15
IR A =25 S RIEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
B HR M S AR 00 N - e I I
ERLEASR D Hitl 30 | L1|foo.gh o o1gt 21 21
N AR fr SR LIS PN oD f P L Bk —t 5.7l 9.3 | —
RELIS O 40 | L1|f 9.4[: 14 2o 22
AR ks 40 | L1|%P 9.4 16/ 22 22
A1 - 2TH Fr S R B PN 0D f AL Xk —#l 5.9rru 3 - -
LIS O Hi 40 | L1 oo.afb 16 2o 22
ayc P S e B b o8 PR 0D JE Rt Xt —# 6.0t 11 | —
LIS 0 i 40 | L1|$ 1o 150 1.8 1.8
IRET Eet’ 30 | L1[F 10 15 21 21
AT 2 ST ELH IR PN oD 2 P K3 —l 6.0 9.8  —|  —
EFELIA 0 30 | L1|F 10F 1560 1.8 1.8
—f& ik S B A P D f2 B XS —t o5 T 13 - —
_ERLEASR D i 30 | L1 ooy 158 2. Ofdl 2.0
& H R S B 3 PN O R Y R R A T
ERELAS 0 Hit 30 | L1|F 1o 16 220 22
E=BL] R SR B N D J T M X I —ffdi 5. THE 10 - -
LR o R 30 | 114 9.8F 16 22 22
7| FH it SR BT PN 0D J L 35 —t 6 ol 13— —
ERCLLSR oD Hirksg 40 | L1|% 1o 164 22 22
5 ot SR BB P D 2 P M D —#E 5. 9% 18 — —
EFCLASN 0> HR 40 | 11| 9.8 15% 1.8 1.8
Z| LA B R UL 1 52 44 —|# 5.6F 8.5+ 5. 14 5.1
LELEASR > iR
1 ERRER B PN o 2 R il s i 6.0 9.3 —|  —
2 LERLS o 30 | L1|% 10 141 22 22
| A et SR LA P 0D o P B XK i 5ot 9.8 —| —
REELIS O I 40 | L1 oo 1eF 22h 22




R30Sy i = X °H
IR A =25 S RIEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
| R 2 S 4 MBI P 0D £ D o DX ’ jﬁm e.f)lr’f@ 1? : -’ ’ i
EFCLLASN D it 40 | L1 1gd 13 22 22
R )T £ 41 - o b5l
il 2 5 8 BRL 40 | 11| 16 20/ g L
RS o i
1 FREERBE N o B A Hh O —fh 6.0l 7.0l | —
2 kLo 40 | L1 oocoh 13 2o 22
K& P S e B b o8 PR 0D JE Rt Xt —ft 5o .00 | —
LIS 0 i 40 | L1|$ 9.9 13% 22 22
K& EiE2 58 5Hw 40 | L1|#F 16 20m7 Lk HERT R TR
22111241 H - 8z 50
WL AR & 0 Lo Hhhk
1 REERE MG o 2 DO —ti 5.7 8.2 —| —
2 RECEAh oot 40 | L4t o.gf 137 22 22
LRELLA D s
1 REEHRBAI N O 2 A i 5.7 8.2 —| —
2 _ERCEA Ot 40 | L2 9.8 13t 22 22
IR i 3 AR BLHA PN oD fR P R0 —fo 5. THE 13— —
LFELIS O HiH 40 | L1|F 9.1 1580 1.8 1.8
b2 = SR B P oD = T M X A —idi 5.7 8.8  — —
EELLLA o Hithey 40 | 1.1|% g8 13 22 22
oy HE Estcn 30 | L1|F 8.9fF 158 1.8f 1.8
A B )1 S5 - - 13— 5
LELEASR > iR
1 ERRER B PN o 2 R il s —t s T 13 | —
2 LERLS o 40 | L1|% o.gf 164 22 22
&1 - 2TH o S 41 L ML ) 00 f D L IR —L 5988 13 — —
REELIS O I 40 | L1 o9 16F 22h 22




SAZ304 53 s ® K 3E
IR A =25 S RIEREE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
ny B EiE 2 5 8 FRL 40 | L1|F 16 20myETLLE
EFELIA D Mtk
1 PSRN o 2 A Hh K —t 5ol 7.0l | —
2 FELS o 30 | L1 oo.gf 13F 22 29
E2 o SR LI PR oD f P B XU o 5. TE 7.0 | —
EELIA 0 i 30 | L1 oogh 134 2o 29
it i S i L L ) o f D o —|t 5. T 12 — —
EFRLIA o Hitkek 40 | L1|% o.gt 16 22 22
& mks Eeei 40 | 11| 15F 140 2. 0ff 2. 0
== 4 )1 SRS i ] —I# 9.1 —# 5.1
RERLAA 0D Hitg
1 REERE N o 2 A O —fl 5. Taz 9.1 — -
2 LELU OISR 30 | L1 9.8F 167 22 22
R HUHT | 5244 1 - 93 —|Ps1
LRELLA D s
1 RERBHE N 0 B Al X i 5.7 8.3 —| —
2 _ERCEA Ot 40 | L1|% o.8f 13 22 22
| R = SR BLHIT PN oD J= M XA —p#i 5. 9% 18 — —
EFRLASN O HiiEk 30 | L1|Fo.5F 158 2. 08 2.0
RH = SR B P oD = T M X A —idi 5. 7l 13 — —
LIS o itk 30 | 1.1|d 9. qfr 154 1. 8% 1.8
L T4 [EE 2 5 8 SR 40 | L1|F 16 ZOFHJ:I:@EI:I:E%I
FELLA D it
1 BEEEREHIE P o A K0 o 5. 7HE 8.3 —| —
2 ELS o 40 | L1 o9 13% 2ofh 22
BEEF o SR B g PN oD f P A XU —Hf 6. O 11— —
EEELIA o il 40 | L1 1o 1gth 2gh 22
) BE Eeiy 30 | 1L1[f 8. 9f 16’%@ 2. i 2. 0




R30Sy i = X 1H
IR A =25 S RIEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®

| AT LI | R OVFE 13241 3 —#f 5.6 8.5 5. 1# 5.1
EFELIA D Mtk

1 PSRN o 2 A Hh K —t 6ol 9.3 | —

2 FELS o 30 | L1|f 10f 9.6F 22 29

7z H P 2 AR B 355 PR D JE Rt DX —ft 5.l 8.4 | —

EELIA 0 i 30 | L1 oo.gh 15 29 29

3| B B OB || B4 H - 9o |50
_EFRLASh o> it

1 REEIRBE G o B A il O —l 5. T 8.4 —| —

2 LSO K 40 | 1.1 EI:sa.zj:: 13 29 22

& A RS ET O B OLHE | 13244 $i - —H 9.9 —I# 5.0

EFELIA 0 40 | L1|F 9.7 13F 22 22

{8 SLET Bt 30 | L1|Fo.7F 15% 229 22

& & R S TR IR PN oD 2 P B X B —#l 6.0 13— —

EFRLIA O it 30 | L1[H 10/ 16 22 22

7% EIT B )44 3 - - 12 —h 51
RFRLAA D Hitks

1 BFEREHIRN O R A KR —W 5. 7fE 12 — —

2 _kERLIA o Hi 40 | 1.1 EIJQ.j: 154 22 22

T = SR B P oD = T M X A —idi 6. 0ffi 15  — —

EELLLA o Hithey 30 | L1|4 1o 14 22 22

W] PaESE L[ B4 - ST s
FELLA D it

1 BEEEREHIE P o A K0 i 5opE 7.7 | —

2 ELS o 30 | L1 o.9f 16F 22 29

[ildN=} Ese 40 | L1|d 1o 19 3.0l 3.0

ol ARyt Ei& 2 5 8 FikL 40 L1 16t 28%1:!:@[:1:!:@
EFRLIA 0> HitlE




S AZ3045) i = X 5
IR A =25 S RIEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
n| | ROERREN O B N - e e I
2 ERLIS 0K 40 | 1.1 (% 9.9 13 22 22
EEEIIIN fr SR LIS PN oD f P L Bk —.oRi 13 | —
RELIS O 30 | L1 o9 16t 2. 0% 2.0
i/ A o SR LI PR oD f P B XU —#t s 11 | —
EELIA 0 i 40 | L1 oo 1t 2o 22
5 AR EHiE 2 5 8 5hw 40 | L1 16 20fTnHd B
O T EE41 Ht — Fo9.00 5.0
LFRLLA o> it
1 R R sk PN 0D SR X Js i 5.7 8.3 | —
2 hEEA o i 40 | L1|% o.gf 139 22 22
i L 5 SR B HIR PN oD i FH ML S —f#t 9. o 11 — —
EFRLIS o M 40 | L1|F 10 15§ 18t 1.8
x| = AHHT =ty 30 | L2|h o 1of 1% 22 22
FigF EHi&2 5 8 B 40 | L1[% 16 20 L YET ELTE
ERELASR D iR
1 REIRE RN o 2 T K —id 5.9 8.2 —| —
2 LEESt oo ik 40 | 1L2|% g.9f 13 22 22
B it AR BRI PN oD 52 A 4 X3 —di 10 10 0 — —
ERCLLSR oD Hirksg 40 | L.1|% 1gdr 164 1. 8% 1.8
e =t ot SR BB P D 2 P M D —#f 5.9 11 — —
RRRA o ik 40 L1|#F 9.4r: 164 224 22
SRS B )1 S5 — - —# 5.4 5.1
LELEASR > iR
1 REEREHEE N 0 B2 X —fel e.oft 13 | —
2 LERLS o 30 | L1|% 1o 14 22 22
& & EaetH 40 | 11| 10 154 1.8k 1.8
#BENAR Eset: 40 | 1.1 8.9 16’%@ 1. 8ffi 1.8




R 304E 5y & R % 65
e e T3 T ) KBS

7]
=]

%, fi i [ E & PE AT A AR R 9 D R R

g TR xkEs E B W v o B B | W |k | e | 08 [

% e - s = = f&

x| #2 2 S B3 PN oD 2 F X —ffei 5. THE 7.0 — —
LA o HilEk 30 I.1|H 9.8 15/ 22 22
| ERF 2 4R B MR P oD 2 P S K3 —fdi 6.0 13 — —

ERLAS o HitE 30 L1 9.1

12 — —

L
i3

H
il
F 154 1.8 1.8
ol BHE Eoein 40 | L1 8.9 19k 2. 9[: 2.9
PR SR B AR PN oD S R —fl 5. Bl
rh

RRLIA o Hitte 40 L1|# 9.9 16/ 1. 8 1.8

&




